How many?

Learning Intention – I can complete a sum that involves taking away 1 or taking away 2.

Take 1 away
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How many now ?________                 4 - 1 =

___________________________________

Take 1 away
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How many now? ________                6 - 1 =

____________________________________

Take 1 away


How many now?     __________         3 - 1 =

Take 1 away 


How many now? ___________              7 - 1 = 

Take 2 away

How many now? __________                   3 - 2 =
Take 2 away 

How many now? ____________      6 - 2=

_______________________________________________

Take 2 away 

How many now? _______________     4 - 2=

____________________________________

Take 2 away 

How many now? _______________       7 - 2=
